
2013/02/02

P O W E R   E Q U I P M E N T

GASOLINE GENERATOR
IC200 Engine - HY2500/3100 (L/LE/LE-3)



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  CRANKCASE IC200 A

ENGINE  CRANKCASE  IC200 A

1

POS REF DESCRIPTION QTY Remark
1
2
2-1
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17

IC200-A01
IC200-A02
IC200-A02-1
IC200-A03
IC200-A04
IC200-A05
IC200-A06
IC200-A07
IC200-A08
IC200-A09
IC200-A10
IC200-A11
IC200-A12
IC200-A13
IC200-A14
IC200-A15
IC200-A16
IC200-A17

Oil lever switch assy
Crankcase
Crankcase
Governor shaŌ
Governor slider
Governor weight
Crankcase
Governor weight pin
Governor holder clip
Governor arm shaŌ
Drain oil bolt M10*15*1.25
Governor washer
Drain oil bolt washerφ10×φ16×1.5
Lock pin  1*5.7
Radial ball bearing 6205
Oil sealφ25*41.25*6
Governor shaŌ washerφ6*φ12*1.5
Flange bolt M6*16

1
1
1
1
1
2
1
2
1
1
2
1
2
1
1
1
1
2

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  CRANKCASE COVER IC200 B

ENGINE  CRANKCASE COVER  IC200 B

2

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7
8

IC200-B01
IC200-B02
IC200-B03
IC200-B04
IC200-B05
IC200-B06
IC200-B07
IC200-B08

Crankcase cover assy
Crankcase cover packing
Oil filter cap
Oil filter cap　packing
Oil sealφ25*41.25*6
Dowel pinφ8*12
Flange bolt M8*35
Radial ball bearing 6205

1
1
1
1
1
2
7
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  CYLINDER HEAD  IC200 C

ENGINE  CYLINDER HEAD  IC200 C

3

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7
8
9
9-1
10
11
12

IC200-C01
IC200-C02
IC200-C03
IC200-C04
IC200-C05
IC200-C06
IC200-C07
IC200-C08
IC200-C09
IC200-C09-1
IC200-C10
IC200-C11
IC200-C12

Cylinder head comp
Spark plug
Gasket,cylinder head
Ｃylinder head cover
Gasket,cylinder head cover
Tube 
Muffler gasket
Flange bolt 6×12
Bolt AM6×113
Bolt AM6×90
Bolt AM8×35
Dowel pinφ10×16
Flange bolt M8×55

1
1
1
1
1
1
1
4
2
2
2
2
4

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE - CRANKSHAFT, CONNECTING ROD IC200-D

ENGINE - CRANKSHAFT, CONNECTING ROD IC200-D

4

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7

IC200-D01
IC200-D02
IC200-D03
IC200-D04
IC200-D05
IC200-D06
IC200-D07

Ring comp
Piston
Piston pin
ConnecƟng rod assy
CrankshaŌ comp168FB-V
ConnecƟng rod bolt M7*32
Piston pin clip

1
1
1
1
1
2
2

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  IC200 VALVE, ROCKER ARM, CAMSHAFT ASSY IC200 E

ENGINE  IC200 VALVE, ROCKER ARM, 
                CAMSHAFT ASSY IC200 E

5

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16

IC200-E01
IC200-E02
IC200-E03
IC200-E04
IC200-E05
IC200-E06
IC200-E07
IC200-E08
IC200-E09
IC200-E10
IC200-E11
IC200-E12
IC200-E13
IC200-E14
IC200-E15
IC200-E16

CamshaŌ assy
Push rod
Valve rocker arm
Valve liŌer
Pivot rocker arm
Weight return spring
Intake valve
Exhaust valve
Seat, valve spring
Valve spring
Intake valve spring retainer 
Exhaust valve spring retainer 
Valve rotator
PLATE SUBASSEMBLY, LIFTER STOPPER
AdjusƟng bolt, valve
Pivot adjusƟng nut

1
2
2
2
2
1
1
1
1
2
1
1
1
1
2
2

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  CARBURETOR ASSY  IC200 F

ENGINE  CARBURETOR ASSY  IC200 F

6

POS REF DESCRIPTION QTY Remark
1
1-1
2
3
4
5

IC200-F01
IC200-F01-1
IC200-F02
IC200-F03
IC200-F04
IC200-F05

Carburetor ASSY
Carburetor ASSY
Packing, insulator
Insulator, carburetor
Packing, carburetor
Packing air cleaner

1
1
1
1
1
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  AIR CLEANER ASSY  IC200 G

ENGINE  AIR CLEANER ASSY  IC200 G

7

POS REF DESCRIPTION QTY Remark
1
1-1
2
3
4
4-1
5
6
7
8
9

IC200-G01
IC200-G01-1
IC200-G02
IC200-G03
IC200-G04
IC200-G04-1
IC200-G05
IC200-G06
IC200-G07
IC200-G08
IC200-G09

Air cleaner ASSY
Air cleaner ASSY
Case comp, air cleaner
Separator, air cleaner
Element, air cleaner
Element, air cleaner
Cover, air cleaner
Nut, M6
Flange bolt M6×16
Nut, M6
Empty filter stents

1
1
1
1
1
1
1
1
1
2
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  IGNITION COIL , FLYWHEEL IC200 H

ENGINE  IGNITION COIL , FLYWHEEL IC200 H

8

POS REF DESCRIPTION QTY Remark
1
2
3
4
4-1
5
6
7
8
9
10

IC200-H01
IC200-H02
IC200-H03
IC200-H04
IC200-H04-1
IC200-H05
IC200-H06
IC200-H07
IC200-H08
IC200-H09
IC200-H10

Flywheel fan
StarƟng cup
Nut M14
Flywheel
Flywheel
IgniƟon coil assembly
Spark plug cap
Flange bolt M6×25
Charging coil
Linking piece
Flange bolt M6×8

1
1
1
1
1
1
1
4
1
1
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  FAN COVER  IC200 I

ENGINE  FAN COVER  IC200 I

9

POS REF DESCRIPTION QTY Remark
1
1-1
2
3
3-1
4
5
6

IC200-I01
IC200-I01-1
IC200-I02
IC200-I03
IC200-I03-1
IC200-I04
IC200-I05
IC200-I06

Fan, cover comp
Fan, cover comp
Shroud comp
Plate, side
Plate, side
Diode
Flange bolt M6×12
Flange bolt M6×16

1
1
1
1
1
1
7
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  SPEED GOVERNOR IC200 J

ENGINE  SPEED GOVERNOR IC200 J

10

POS REF DESCRIPTION QTY Remark
1
1-1
2
3
4
5
6
7
8

IC200-J01
IC200-J01-1
IC200-J02
IC200-J03
IC200-J04
IC200-J05
IC200-J06
IC200-J07
IC200-J08

Control assy
Control assy
Governor arm
Square head screwM6×21
Nut, M6
Governor spring 
Governor rod
ThroƩle return spring 
Flange bolt M6*12

1
1
1
1
1
1
1
1
2

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE- HAND PLATE IC200-K

ENGINE- HAND PLATE IC200-K

11

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7
8
9
10
11

IC200-K01
IC200-K02
IC200-K03
IC200-K04
IC200-K05
IC200-K06
IC200-K07
IC200-K08
IC200-K09
IC200-K10
IC200-K11

Recoil starter assy
Recoil starter case comp
Recoil starter reel
Starter ratchet
Ratchet guide
Flange bolt M6*8
Recoil starter spring
Return spring
Recoil starter knob
Recoil starter rope
Seƫng screw

1
1
1
2
1
3
1
2
1
1
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  START MOTOR  IC200 L

ENGINE  START MOTOR  IC200 L

12

POS REF DESCRIPTION QTY Remark
1
2
3
4

IC200-L01
IC200-L02
IC200-L03
IC200-L04

Star ng motor
Flange bolt M6×35
Flange bolt M6×25
Flange bolt M5×12

1
1
1
2

P O W E R   E Q U I P M E N T

5 IC200-L05 1Start relay

5

起动继电器



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ENGINE  FUEL TANK & MUFFLER  IC200 M

ENGINE  FUEL TANK & MUFFLER  IC200 M

13

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7
8
9

IC200-M01
IC200-M02
IC200-M03
IC200-M04
IC200-M05
IC200-M06
IC200-M07
IC200-M08
IC200-M09

Fuel Tank ASSY
Tank fuel
Joint, fuel tank
Filter, fuel
Fuel filler cap
Clip, tube
Tube, fuelφ4×φ8×150
Flange bolt M6×25
Muffler ASSY

1
1
1
1
1
2
1
1
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
ALTERNATOR IC200 N

ALTERNATOR  IC200 N

14

POS REF DESCRIPTION QTY Remark
1
1-1
2
2-1
3
4
5
6
7
8
8-1
9
10
10-1

IC200-N01
IC200-N01-1
IC200-N02
IC200-N02-1
IC200-N03
IC200-N04
IC200-N05
IC200-N06
IC200-N07
IC200-N08
IC200-N08-1
IC200-N09
IC200-N10
IC200-N10-1

2KW Rotor
2.5KW Rotor
2KW Stator
2.5KW Stator
2-2.5KW Rear cover
2-2.5KW  AVR（1-phase）
Terminal plate（1-phase）
2-2.5KW End cover
2-2.5KW Brush kit
Bolt M8×1×180
Bolt M8×1×205
Washer M8
Bolt M6×130
Bolt M6×155

1
1
1
1
1
1
1
1
1
1
1
1
4
4

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
FRAME  IC200 O

FRAME  IC200 O

15

POS REF DESCRIPTION QTY Remark
1
1-1
2
3
4

IC200-O01
IC200-O01-1
IC200-O02
IC200-O03
IC200-O04

2/2.5KVA(L) Frame
2/2.5KVA(LE) Frame
Absorber-2kw open type
2/2.5KVA Upper support
14Ah BaƩery 

1
1
4
2
1

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
FUEL TANK IC200-P

FUEL TANK IC200-P

16

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7
8
9
10

IC200-P01
IC200-P02
IC200-P03
IC200-P04
IC200-P05
IC200-P06
IC200-P07
IC200-P08
IC200-P09
IC200-P10

2.5KW Fuel tank
Fuel tank cap
Fuel filter cup
Fuel cock (outer thread)
Fuel level indicator
Flat washer φ6×φ25×2
Tank absorber bush
Tank absorber
Screws M5×12
Flange bolt M6×25

1
1
1
1
1
4
4
4
2
4

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
MUFFLER IC200 Q

MUFFLER IC200 Q

17

POS REF DESCRIPTION QTY Remark
1
2
3
4
5
6
7
8
9
10

IC200-Q01
IC200-Q02
IC200-Q03
IC200-Q04
IC200-Q05
IC200-Q06
IC200-Q07
IC200-Q08
IC200-Q09
IC200-Q10

Muffler
Muffler cover
Bolt M8*14
Muffler pipe
Muffler gasket
Muffler connector 1
Muffler connector 2
Flange bolt M8*16
Nut M8
Flange bolt M6*12

1
1
3
1
1
1
1
2
2
5

P O W E R   E Q U I P M E N T



PORTABLE GASOLINE GENERATOR - HY2500L(E) / HY3100L(E)
CONTROL PANEL  IC200 R

CONTROL PANEL  IC200 R

18

POS REF DESCRIPTION QTY Remark
1
2
2-1
2-2
3
3-1
4
4-1
4-2
5
5-1
5-2
5-3
6
6-1
6-2
7
8
9
10
11

IC200-R01
IC200-R02
IC200-R02-1
IC200-R02-2
IC200-R03
IC200-R03-1
IC200-R04
IC200-R04-1
IC200-R04-2
IC200-R05
IC200-R05-1
IC200-R05-2
IC200-R05-3
IC200-R06
IC200-R06-1
IC200-R06-2
IC200-R07
IC200-R08
IC200-R09
IC200-R10
IC200-R11

Panel plate
LED5 display
LED3 display
Voltage meter
Start lock

Leakage breaker 1P+N
Black breaker 1P
Black breaker 2P
Europe socket 16A
Black Australia socket 15A
Black ArgenƟna socket 15A
IP67 Australia socket 15A
V type 12V/DC connector
T-type 12V/DC connector
V type 12V/DC terminals(Both of red and black)
Grounding nut
Fuse kit
RecƟfier 12V
Hours Ɵmer
BuƩon switch 

1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

P O W E R   E Q U I P M E N T



P O W E R   E Q U I P M E N T


